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"The Ideal Diode Model

Vg

+._=—

ldeal dinde model

r

Anode (A)  , Cathode (K)

4

Reverse bias

(c) Ideal V-f characteristic curve (blue)




"The Practical Diode Model
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The Complete Diode Model
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ﬁhe Actual Diode Model
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Diodes CIrcults

> ldeal diode model
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Example

» For the circuit shown, assume ideal diode; find the current in the circuit shown?

o [V +10 ¥
For diode in circuit (a) A B
Diode is on,
Because diode is ideal diode § | ki ; | k)
V,=0v 1,=(10-0)/1KQ= 10mA L e
For diode in circuit (b) v B
Diode is off, so it is open circuit, L L

\ and V,=10v 1,=0 MA o mj
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Example

» Assuming the diodes to be ideal, find the values of | and V in the circuits shown?

N

For circuit shown in Fig (a)
Assume diode D, 18 on, so Vg=0v
Then diode D, will be on
[,,=(10-0)/10 = ImA

Atnode B
[+I..=1

D2 5K

[+1mA=(0-(-10)/5

Then I=1 mA
V=V,=0V
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Example

For circuit shown in Fig (b) &
Assume diode D, is on, so V =0v

Then diode D, will be on $ kn
l5,=(10-0)/5 = 2mA

At node B
+p2=l10k0
l+2mA=(VB-(-10)/10=(0-10)/10=1mA

Then I=-1 mA, %“‘ k0
so diode D, will be off (open circuit) and !

I=0 mA IRY
While diode D, will be on, so (b)
152= lska= liokg = (10-(-10)/(5+10)=20/15=1.333mA
V=10-1.333%5=3.3333V, or
V=-10+1.333*10=3.3333V
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